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3. (a) Explain the observation method and
No. of Printed Pages : 6 ECO-07 ) , .
personal interview methods of collection of

data and also narrate their merits. 5
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(b) Briefly explain a variable and an attribute

(BDP) with an appropriate example of each. 5
Term-End Examination 4. Calculate mode from the data given below : 10
December, 2021 Class-Interval Frequency
(Elective Course : Commerce)
0—10 2
ECO-07 : ELEMENTS OF STATISTICS
10—20 7
Time : 2 Hours Maximum Marks : 50 9030 9
Note : Attempt any five questions. All questions 30—40 9
carry equal marks. Simple calculator is
40—50 15
allowed.
50—60 4
1. “Sciences without statistics bear no fruit;
statistics without sciences have no root.” 60—70 4
Comment. 10
2. What do you mean by ‘Statistical Error’ ? How 5. Draw subdivided bar diagrams with the
do they differ from mistake ? Explain with an following data pertaining to marks obtained by
example. 4,3, 3 A and B students in various subjects : 10

P.T.O.
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Subjects Marks of A Marks of B

English 60 70
Hindi 75 65
Maths 95 82
Computers 90 80
Commerce 85 95

6. Write short notes on the following : 5+5

(a) Histogram

(b) Two-dimensional diagram

7. Distinguish between the following : 5+5
(a) Exclusive and Inclusive class intervals

(b) Less than or more than ogives

8. Explain any fwo of the sampling methods. 5 + 5

P.T.O.
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10—20 7
20—30 9
30—40 9
40—>50 15
50—60 4
60—170 4
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